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TCA BT 50WH 78 100WH 778 TCA—E By S50WHE 778 100WH 778
ERIRE mm/s 1000 1000 ERRE mm/s 600 600
X2 bhO—7 ~300mm 1500 1500 X2 tkA—-7 ~300mm 1000 1000
X2 bA—=7 ~400mm 1500 1500 X2 bA—=7 ~400mm 800 800
R mm/s ZhO—% ~500mm 1200 1200 Rk mm/s Z hkO—% ~500mm 800 800
X2 hO—7 ~600mm 1000 1000 X tA—=7 ~600mm 680 680
X2 kA—7 ~700mm 800 800 X2 kA—-7 ~700mm 680 680
EARHES N 40 80 ERRHES N 67 134
=mAHES N 161 322 =AHS N 201 398
RAINRE G 0.3 0.3 RAINRE G 0.3 0.3
KFEEE kg 10 30 KIFErREE kg 8 16
F—Ix ViR mm 15 15 K- % iR mm 12 12
R=xTU—=F mm 20 20 A=x I —FK mm 12 12
E-4—-TFB LY N.m 0.159 0.319 E-4-—TFR LY N.m 0.159 0.319
R ULERDIEE mm +0.01 +0.01 Rk ULEROIEE mm +0.01 +0.01
BE kg 13.5/600ST 13.5/600ST BE kg 6.5/700ST 6.5/700ST
VS5 EVES B
TCA15 20 X 400 C' S TCA12E 12 X 400 C S
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